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1. % A N—n W, H rank(A) /R rank(AY).

2. B 35 A, B,C,D O n B i B, det(A) # 0, N

A B
det (C D> =det(AD — ACA™'B) = det(A) - det(D — CA™'B).

AN, Bk
AP det(AD — CB), #AC = CA,
e =
det(DA — CB), #AB = BA.

3. UGS
MS(R) = {A = (aij) S MH(R” Zaij =0,i1=1,2,... ,n}
J
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4 B p=3, Gl Z, WS TREE . GENZ) = Z,\{0) RTTeER M BRIES T
% acZX 8 {alli € Z} = ZX. (F: WAESEX—BEE p WHGT. )

5. & G, H NWAHE, BAITH N eq e, % ¢ G — H AR, 1€ ker(¢) = {9 € Glo(g) = en }-
TERR:

i) ker(¢) N G B—"11HE

ii) gker(¢) = ker(¢)g MEE g € G K7, H gker(¢) = {gg'|g" € ker(¢)}, ker(d)g = {g'glg’ €
ker(¢)};

i) ¢ 2GS HALY ker(¢) = {eq}.
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6. IEWIE |G| MABEL, MAMETER g # e WL ¢° = e (Fmig? #e Ml (971)* # e



